S-29-2

An electron moving along the positive x-axis perpendicular to a magnetic field experiences a magnetic deflection in the negative y-direction. What is the direction of the magnetic field? 

S-29-12

A wire, 40 cm long, carries a current of 20 A. It is bent into a loop and placed with its plane perpendicular to a magnetic field (B = 0.52 T). What is the torque on the loop if it is bent into an equilateral triangle, a square or a circle?

S-29-14

A conductor suspended by two flexible wires (as in the figure) has a mass per unit length of 0.040 kg/m. What current must exist in the conductor in order for the tension in the supporting wires to be zero? Assume B = 3.6 T directed into the page. What is the required direction for the current?

S-29-28

The magnetic field of the Earth at a certain location is directed vertically downward and has a magnitude of 0.5 gauss. A proton is moving horizontally toward the west in this field with a speed of 6.2 106 m/s. What are the direction and magnitude of the magnetic force the field exerts on this charge? What is the radius of the circular arc followed by this proton?

S-29-9

A proton moves with a velocity v = (2i – 4j  + k) m/s in a region in which the magnetic field is B = i + 2j – 3k T. What is the magnitude of the magnetic force this charge experiences?

S-29-29

A singly charged positive ion has a mass of 3.20 10-26 kg. After being accelerated from rest through a potential difference of 833 V, the ion enters a magnetic field of 0.920 T along a direction perpendicular to the direction of the electric field. Calculate the radius of the ion in the field.






















